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LLM-11 (Master of Law)

Second Year Examination-2014
LM-1010

Law Relating to International Trade

( T SUR Gat-ea fafr)
Time Allowed : Three Hours

Maximum Marks : 60

Note : This paper is of sixty (60) marks divided into
three (03) sections. Learners are required to
attempt the questions contained in these sections
according to the detailed instructions given
therein.

AT : Ig UIA-UA WIS (60) 3iehi o1 & I < (03) Gk
# faurfoa &1 frenfial = g7 @< o e o
forga fadll & 3rTEW € wvl &l T O R
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Section - A / @8-

(Long answer type Questions) /( " ST 9l W97 )

Note : Section 'A’' contains four (04) long-answer-type
questions of fifteen (15) marks each. Learners
are required to answer any two (02) questions
only. (2x15=30)

AT : G ‘T W TR (04) € 3TRY a1 vy fEu
T W9 @ T ugg o fauifia & 1 foranfe=
T U et & Y9l & SAL e § |

1. What do you understand by the Arbitration and
Conciliation Act, 1996 ? Discuss in detail.

AEAE Ud Yele ATHEH 1996 H 39 Fa1 FHEd
€ ? ofer o wifR |

2. What do you understand by Foreign exchange
regulation and management ? Discuss.

ferelt o1 fafame oo yorem 9 39 o1 woee © 2
3. Write an essay on GATTS & TOW agreement.
T2 iR T=0g, 9. 3l TR W T ey fafed |

4. Explain main provisions rleationg to International
Trade Law.

HIfT |

287/193/130



Section - B / @g-&

(Short answer type Questions) ( T 3T aTeT UIT)
Note : Section 'B' contains eight (08) short-answer-type
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questions of five (05) marks each. Learners are
required to answer any four (04) questions
only. (4x5=20)

wT @ & 33 (08) Y ST are wv fEw
T U9 & foe uter o freifa & 1 forenfay
I TTH Y Haet I Y9 & ST ST § |

What is FEMA ? Discuss.

ST @ § 2 fase wifva |

Discuss the role of Central Excise Act in regulation

of international trade.

IR AR & o § :59 SUR Ioh
AIEH i Y{HRT T == hiTSC |

Explain the main issues in the establishment of

industrial units.

STreNfiTer TeRTEal Shi TTOHT & YA TSl ! qHegd|
Write a note on "Dispute Settlement Mechanism
under WTO" ?

g Al & ST foerg fuem @t =ewen
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What do you understand by UNIDROIT ? Explain.

g T o6 € SR S AR . ¥ 9 R’ uHed
g ? W= Wit |

Discuss the historical background of competition

law in India.

IRd | wfaeqeicts &I &1 Ufaeras gsqfd &
== sifag ?

What do you understand by foreign technology

agreement ?

foelt qen-iiehl THEiia @ o9 @ g © 2
Write short note on the "Doha Work Programme".
“Trer g W) iy ool fafere 2

Section - C / @g-H

(Objective type Questions) / ( TS W)

Note : Section 'C' contains ten (10) objective-type

questions of one (01) mark each. All the questions
of this section are compulsory. (10x1=10)

Az : @ T H @ (10) TS WA fqw oo,
TS U & foe uw ofw fruif@ € 1 3w ws
& |t wg StfEmd ¥ |
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Indicate correct answer option:

I & fau @t faswkew &1 <@ Sty -

1.

The theory of big-push was propounded by :

(a) Rodan (b) A.O. Hirschman
(c) Nurkse (d) W.A. Lewise
far-uy] fagra = wfawfea fean 2 -

(1) T=A (@)  wa mEH
(9) HLaR T (37) =g, T offod

Which Economist first suggested imposition of

expenditure tax :

(a) J. Hicks (b) Balton

(c) N. Kaldor (d) Musgrare

98 Uga AYImE MR = X W @ @
e e on -

(a1) . fee (9) sleed

(4) TAHSR (7)) HEw

EURO come into circulation since :

(a) January 1, 1996 (b) January 1, 1997
(c) January 1, 1998 (d) January 1, 1999
T 1 J=T AT -

(31) SHad 1, 1996 € (9) A 1, 1997 9
() e 1, 1998 & (%)  Serl 1, 1999 ¥
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4. The world trade orgnisation was formed in the year

............ with GATT as it basis :
(a) 1993 (b) 1994
(c) 1995 (d) 1996
fava SR WA ®1 T T # UR & Wi Ry
9y § galm ?
(31) 1993 (F) 1994
(§) 1995 () 1996
5. The country that attract the largest FDI in flow is :
(a) India (b) China
(c) USA (d)  Brazil
oy a9 v fadeh faw o frafafea 9 § #9
1 I ST ® 2
(1) 9@ (9) =H
(9) 9% T A
() wteA
6. In 90's the global management perception was based

on:
(a) Standardization V/s adaptation

(b) Globlization V/s Localization

(c) Global mntegration V/s Local Responsiveness

(d) Local Responsiveness
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T & <9 o afves yron enerfia eft -
() HMhIRI d. TR
(9) afyaeto 9. T
(§) dOftesh Tl 9. giadassied

(T) TIHE gfagaesierdr

7. The first phase of globalization started around 1870
and ended with :
(a) The world war I
(b) The world war 11
(c) The Establishment of GATT

(d) In 1993 when GDP was high
YHUSHIARTU T T8l <O TFIHT 1870 H YREW
gen 3R frfafed & @y 9o & e -

(31) fova gg wem (&) fova g5 fgag
(|) T & T o

(3) 1913 ¥ S & Ia=R & @9

8. Which is not an Indian multinational company :
(a) Unilever (b) Asian paints
(c) Pirmal (d) Wipro

frfafea o @ = @ wrde sgdsE s @i
7 -

(1) AR (9) TR =d
(@) T (7) fomt
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9. MNC stands for :
(a) Multi national Corporation
(b) Multi National Corporation
(c) Multi National Company

(d) Multi National Coloboration
THTEHE ® -

(1) EEUE WEAn

(%) wgusE fam

(|) U wet

(7) U soet g

10.  Which is the right sequence of a stage of
Internationalization :

(a) Domestic, Transnational, Global,
International, Multinational

(b) Domestic, International, Multinational,
Global, Transnational

(c) Domestic, Multinational, International,
Transnational, Global

(d) Domestic, Global, Transnational,

Multinational, International

STASEIIHIU & = BT WL STIRH i T § ?
(31) M, TR, e, s, Tgiwiy
(F) <, srauiedy, sgdwia, aftesw, T
(W) i, TgiEiE, s, IRmeEd, Stas
(3) <3fg, dfvaew, Tvmera, sgieiy, sy
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